1" TERMINAL EXAM (09.10.2023) MM0
CLASS- IX SUBJECT ~ MATHEMATICS A0

Instructions: *Attempt all the questions.
*Solve all questions carefully.
*Draw graphs wisely.
Draw grftpll \ 251
I. Multiple choice questions . |
LIt s cooramate ot a pomt s zero. then the point lies on: |
a. FFirst u]llﬂ(‘lraﬂl b. Second (]UE]LIH'HI'H C. MX_IS d Y-avis . setiveld -
2. Signs of the abscissa and ordinate of a point in the second quadrant are resp ¥
:l. +, + lll'+' . .-, + d. - -
2.1t the coordinates of a point are (-3, -4), then it lies in; _ ad
a. \ Pirst quadrant b. Second quadrant ¢. Third quadrant d. Fourth g adrant
4.The linear equation 3x-11y=10 has:

a.  Upique solutions  b. Two solutions  c. Infinitely many sotutions  d. No solutions
3.The solution of equation x-2y = 4 js:

a. (0.2 41,&2.0) c. (4,0 d. (1,1)
h4\ linear cquation in two variables is of the formax + by + ¢ =0, where .
(@A=1{.c= DA 0. b= (cha=0.bz0 (A £0.b£0

\rea of a wianghe is equal to:
4. Base x Height b.2(Base x Height)

c. /o(Base x Height) ¢4 (Buse + Height)
"' e base of a right triangle is § cn ?

1and the hypotenuse is 10 cm. Its areq will be

(2124 cm2 (b¥0em?2 g 00 -OhELL ) ()80 cm2 *
n"I'iar: CULELAOIOT atonnauon. collected Tor 2 purpose 1§ called:
4. Mean b, Median ¢. Mode +d. Data
9 What is the chass mark of the class interval 90-1207
a. 90 b. 105~ c.113 d.120
H®lhe difference between the maximum and minimun: vajyes of the given observation is called
4. Class i &. Class interval ¢. Class mark L G-Range
| MThe point ai which the two coordinate axes meet is salled the :
a. abscissa b. Ordinate ¢. Origin wuadmnt
2% point buth of whose coordinutes gre negative wil! lie in -
a. | quadrant b. Il quadrant c,}lk(;uaulrum d. IV quadrant
12 % ¥ coordinate of a point is zero, then this pant alviuys lies :
e In ! -hlt-.:;drlu_:!'. b. W 11 quadran R\}(ﬁf.\-u.\is d. On y-axis
F.Pomu (U, - 7y dies

d. on the waxis b. I the second quadran
£ On the vygft d. in the fourth quadrant
1 In the class intervals 10-20, 20-30, 20 is included i,
. 10-24 b. 20-30 ¢.
lﬁ,‘hnd the maximum value if the range is 38 and th
a. 60 b.76 ¢.120 .82
l'r'.ll‘uint (3, 4) lies on the graph of the equation 3y
) 4/3 bY53 ¢} 3 d) 713 |
18.1f X and v are hoth positive solutions of equation g +hye=0),
a) Figst-quadrant b) Second qus drant
3 Third guadrant AV Eourth quadrn
19, The triang!e whose all sides aiv cyqual is catled a
a). Isosceles trigngle b). Kight angle wiangle
0. Peringed®s of triangle of different sides is.

I.l;l E?'_" N h T ¢ b} |l: d + h Cj' ll‘_" h - d). P= 2{3 + b + L‘J

which interyal?
3th the intervals d None of the

h t lervy)g
©onnumum value is 82

Ke+ 7 The value of'K i

always e in

O Fquilaieral triangle d). Nopy,



I1. Very short answer type questions : | |10
1.find two sclutions for the cquation 4x+3y=12 ,
-9 witle tach n the form of ax+by+¢=0 and find thy values of a, b and ¢ in each case
Ay Bixy/s=10 | |
3.Find the area of a triangle. two sides of which E:E Bemand 11 emandthe  perimeter
D32 CM. o
Without platting the points indicate the quadrant in which they will lie. if
I.The ordinate is S and abscissa is -3 2. The abscissa is — § and ordinate is -3
3.The abscissa is - 5 and ordinate is 3 4.The ordinate is § and abscissa is 3
I11. Short answer type questions : 120}

}}iws of triangle are in the ratio 12: 17 :25 and jt's perimeter is 540 ¢m. find it area

write the shape of the quadrilateral formed by ;oining (1.1),(6.1).4,5) and (3.5) on the
eraph paper. . | '

\_3.write four solutions for the equation :x+2y=6 J

4. Given below are the sets one by different political parties in the polli _
i - ng »
\ State assembly glections : polhing outcome of a

I\ Long answer fype qUestions . . - ‘o 123
LAn sosceles *iangle has perimeter 30 cm and each of the equal sides is 12 em tind the
area of the triangle.
2.The following table gives the lifetimes of 400 neon lamps -
1. Represent the given information with the help of histogram.
i _1_|}_m many lamps have a lifetime of more than 700 hours?
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